34.
36.
38.
40.

42.
44.
46.

48.

h2+z)=1 & 2+z=¢ & z=e—-2~0.7183
log(z—4)=3 & z-4=102=1000 <« z=1004
logs(2—7)=3 & 2-2=3=27 & -z=25 & z=-25

logg(a? —2—2)=2 & 22-2-2=2'=4 & 2’-z2-6=0 &
(z—3)(z+2)=0 < z=3o0rz=—2. Thusthesolutionsare z =3 and z = —2.

2logz =log2 +log(3z —4) <« log(z?) =log(6z—8) & z’=6z-8 &
22—6x+8=0 & (z-4)(z—2)=0 <& z=4orz =2 Thusthesolutionsarez =4
and z = 2.

logsz + logs(z +1) =10gs20 <« logs(2? + ) =logs20 <« 2’4+z=20 &
?+2-20=0 & (z+5)(z—4)=0 <& z=-5orz=4. Sincelogs(—5)is
undefined, the only solution is = 4.

logz+log(z—3)=1 & loglz(z—-3)=1 & 22-3z=10 <« 2°-3z-10=0
& (z+2)(x-5)=0 <& z=-2o0rz=>5. Sincelog(—2) is undefined, the only solution
isz = 5.

Inz—1)+In(z+2)=1 & hjlz-1E+2)]=1 & P+z-2=e¢ &
’+z-(2+e)=0 = z= L 1;4<2+E) = 'ligg“e. Since z — 1 < O when

T = :1;%@, the only solution is = 11329@ ~ 1.7290




